
S1 Eq To account for the difference in variability between the correlation coefficients
of each pair of orbits, we also computed the following standardised distance δstd,Mk

between GCM(Mk) and GCMM where σ(i, j) is the standard deviation of the correlation
coefficients of the pair of orbits (i, j ) under H 0. We built the test by computing η the
number of times the standardised distance between GCMG and GCMM is smaller or
equal to the distance δstd,Mk

. The p-value [50] is defined by p̂ = (η + 1)/(K + 1). The
larger the p-value, the less evidence against H 0.
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